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Solve the word problems. Show your working out.
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There are 12 bookshelves i ; A store sells boxes
with 1132 books on i ‘ with pens.
each shelf. Each box contains 16 pens.
How many books are in total How many pens are in
on all bookshelves? 2011 boxes?
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A tyre factory produces
5328 tyres a day.
How many tyres will the
factory produce in 37 days?

The theatre ticket price
is £14.
How much will the theatre

earn on selling
3142 tickets?

O -

® ®
The area of a tangerine garden
measures 26 acres.
One acre has
1354 tangerine trees.
How many tangerine trees are

In each turn in a game you
can get 78 points maximum. @, 0 @ s
The game consists of R
2819 turns. ' ,@
_—
What is the maximal number of {7 S
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in the garden? " | | points you can get in the game?
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A sports company sells
9872 balls each month.
How many balls does
the company sell in a year?

A pizzeria makes 3625 pizzas
each week.
How many pizzas does
the shop make in 12 weeks?





